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No. of Questions : 150
Wt it T : 150
Time : 2 Hours Full Marks : 450
T : 2 9O | - quriE : 450

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
question.

AT Te g HTA 1 TS FL) TAF T 3 (T ) 376 F €
U&ie T I % 70 U ik 1T T Tesh ST ARd W
g1k ol e e |

(2) If more than one alternative ansewrs seem to be approximate to
the correct answer, choose the closest one,

gﬁwf%amwgﬁw%ﬁwmﬁ,ﬁﬁmdwﬂﬁdm_
, |

1. In case of positive marginal utility, total utility will be :

(1) Increasing (2) Decreasing

(3) Zero (4) Unchanged

o ST S 2 3 ffa ¥ e swaifiia et

(1) sEdigd  (2) wAE (@) TA (4) SrarEf

2. If the cross-elasticity of demand of X commodity for changes in the
price of Y commaodity is positive, the commodities X and Y are :

(1) Complements _ {2) Substitutes

(3} Giffen goods (4} Inferior goods

3 P.T.O.
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AT Y a5 & ed H uitadd @ feafa § X 9 F A0 6 Sd-ele TR
%\, ﬁ"[ﬁaﬁi% :
(1) Th - (2) SfaeareT

(3) fiftea aqd (4) P aege

3. In case of two perfect substitute commodities, the marginal rate of
substitution is : '

(1) Increasing (2) Decreasing

(3) Constant (4) Changing

<) qul sfereere agali % offe wler < dm R e R
(1) g (2) wed g

(3) fer (4) e g

4. Price effect denotes :
(1) Income effect — Substitution effect
(2} Substitution effect + Income effect
(3) Income effect. + Technical substitution effect
(4) Substitution effect + Production effect
ST TS fafée = 2
(1) 33 99 — ST q9E
(2) W9 g9E + 3T TS
(3) 3T WA + Aehrtchl AT qre
(4) HfTTT g9 + SEA A



10P/239/31

5. Leontef isoquant is :
(1} a line with no kinks
(2) a line with many kinks
(3) Parallel to the axis with a kink

(4} a smooth curve

fera=® =1 geicae 9% B ©
(1) fag=m deq @ (2) ok fagp= wfga Y@
(3) foag=a & 919 9197 & YA (4) TR0 9

6. A monopolist does not have a

(1) Supply curve (2) Demand curve
(3) Iso-product curve (4) Indifference curve
IRt % fore e & @
(1) T = (2) WM
(3) WA a5k (4) IS o6

7. The demand curve for a firm under perfect competition is :
(1) downward sloping (2) Parallel to x—axis
(3} Parallel to y-axis (4) a rectangular hyperbola
qof sfRifiren % srarta o 1 A ok Er @
(1) = &t @R gepar gon (2) x-& F FHARR
(3) y- H¥ & GHFIRR (4) TF EAFER IRIe

8. In Solow's model of growth, the output per capita is a function of :
{1} capital-output ratio
(2) labour-capital ratio

{(3) rate of change of capital-labour ratio

(4) technical progress

5 P.T.O.
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10.

11.

el & faeg uiea §, wfgeafag frfq wom 2 :

(1) Yoit-fpia srgam =

(2) #W-ST ST H |
(3) GSh-srd SIWH & Uierd H T H

(4) deheitehl S T

Grasham's law relates to :

(1) employment {2) real output

(3) money and prices (4) money supply
Jvm =1 fram Tt R

(1) TR (2) Tt fia o
(3) HEI UE A I U

The locus of Pareto optimality in production and consumption is given
by the :

(1) utility possibility curve (2) grand utility possibility curve

{3) production possibility curve (4) social welfare function

IEWIEA TH SUHT B W SFAIherHa F gy veqa fHa s ?

(1) SYANTE FeIE =5k 10

(2) 3=9 U GET R B
(3) SCIES TEEAT 956 BN

(4) QEITSEE FE01 HeH g

In comparison to the demand curve of a monopolist, the demand
curve of a monopolistic competition 1s :

(1) less elastic and more stable (2) less elastic and less stable

(3) more elastic and more stable (4) more elastic and less stable.



12.

13.
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TF THIHFR & A0 ash F gorn ¥ umifesd wfiEiht F i aw aa ?
(1) ¥ ARR Td AF Rer (2) W WAEER W HH R
(3) e SRR e st fer (4)  sifer dieR W # R

The Doctrine of consumer's surplus is based on :
{1) the law of substitution

(2) the theory of revealed perferce

(3) the law of diminishing marginal utility

{4) the indifference cufve analysis.

SN 1 wad w1 fagr el €
(1) wfgeered & fad ¢

(2) ITafea Afmm fggra W

(3) BTewH e Sy B W
(4) S w36 fawera T

The Revealed preference theory is based on :
(1) introspection
(2) the assumption of indifference

(3) utility and demand

(4) observed consumer behaviour

IgeIfen st frgr o €
(1) S faeamw W (2) I ) WA R
(3) Sy T AT W (4) ST ST ZEER W

7 P.T.O.
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14.

15.

16.

17.

External economies are witnessed in :

(1) a fising supply curve (2} a falling supply curve
(3} a rising demand curve (4) a falling demand curve
ey fgefaand St e ¢ -

(1} 330 9f =3 (2) fd gf <o o

(3) I3 W FH N (4) FRY TR 9%

The short run law of variable proportion is also known as :

(1} Law of increasing returns (2] law of constant returns
(3) law of diminishing returns (4) law of returns to scale
ST IERHee SR & Fram @Y el S R

(1) Scfd gfg fFas of (2) Safd ggar frem of

(3) Sfq s fam o (4) TR & wfawa w1 Fag of

The expansion path of production theory is analogous in consumption
theory to the :

(1) Price-consumption line (2) Income consumption line
{3) Budget constraint line {(4) Engel curve

S foar &t fatar 99 394 e & e F aeu S @
(1) Ted-3949m @ (2) S-S T

(3) T wfysy 3@ (4) U9t 5%

All money costs can be regarded as :

(1} Real costs (2) Soacial costs

{3) Explicit costs {4) Opportunity costs
gt Wifeew oY gaeh S gadt ® |

(1) drfeeh ST (2) ISR ST

(3) TR AT (4) STH A
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Rectangular hyperbola is the shape of :
(1) Total variable cost curve

(2) Average variable cost curve

(3} Total fixed cost curve

(4) AVerage fixed cost curve

ITIAHFR UfTerd WET B

(1) o IedTeia a0 @56 o

(2) oiwa TiedTeie @ o &

(3) T R @rd 9% =

(4) oftea R @ O &1

Marginal revenue will be negative if the demand is :

(1) perfectly elastic (2) relatively elastic
(3) relatively inelastic (4) unitary elastic
HHT ST SEOTTETs BT Afe T B

(1) guia: &reRR (2) WY RN
(3) WY FeARER (4) THE eEER
Excess capacity is not found under :

(1) perfect competition (2) monopoly

(3) monopolistic competition (4) oligopoly

fr & etmia siftie aan =& ot ot 2

(1) ot sfenfr (2) TR

(3) UIEsR) SR (4) STeaER

9 P.T.O.
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21.

22,

23.

A monopolist will fix the equilibrium output of his product where the
elasticity of his Average Revenue Curve is :

(1) equal to or less than one
(2) greater or less than one
(3) less than one but more than zero

(4) =zero

T THIUFHR ST 3G F TG IWET 98l Faiia F3m sl 3% i
ST o5 I e et

(1) U & S& AYS HH (2) TH | i g w1

@) WaFnfargyI Q@ aftr 4) LI

In the 1inearly homogeneous Cobb-Douglas production function with
two inputs the elasticity of substitution between the inputs is :

(1) one (2) greater than one

{3) less than one (4) zero

A FIE ¥ WY T GIEY HiE-STed IEET Hod T, SE ¥ o
pinr e e i e )

(1) T (2) TF 9 A
(3) W wH (4) A

If the supply of a factor can not be increased in the short period and
demand for it increases, it will :

(1) Earn economic rent (2} Earn quasi-rent

(3} Earn windfall profit (4) Increase its transfer earnings

gﬁ}wﬁﬁmwﬁﬁﬁmmmammnﬁﬁq@ﬁ
98 :

(1) N o T &M (2) STMIG-TFE WS HM
(3) STINeTA T S HIM (4)  STUHT TFETOT S Y ST

10
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Under the Keynesian system, a fall in money wage rate will lead to :

(1) an increase in employment (2) a fall in the price level

(3) a fall in the interest rate (4) afallin the quantity of money
HIA gomeft & srrla Hifge Aegd < ¥ firee am

(1) TR A g5 (2 uﬂéw ol

(3) <A X H et (4) T & uimmor o

Given the total investment expenditure, an increase in the propensity -
to save will lead to :

(1) rise in income (2) fall in income

(3) fall in savings (4) rise in the rate of interest
%o fafrEr s e gon 87 W s=a w1 i s -

(1) M ¥ dfs (2) o ¥ =0

(3) =l 7 (4) A g5

The speculative demand for money is :

(1) income determining (2) income determined
(3} interest determining (4) interest determined
TE F mEaS & o win O E

(1) o frufes (2) ema fauifd

(3) = ful® (4) = fagiftd

When the linear consumption function undergoes a parallel shift
downwards, the investment multiplier with :

(1) rise marginally (2) remain as before

(3) fall {4) become double

11 P.T.O.
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28.

29.

30.

I TEh 39RT Her R #Y IR WHERR o € @ fatrm s

(1) AdH agm (2) JgrEd @M
(3) =W (4) R SR

Fluctuations in investment leading to changes in employment and
income are known as : '

{1} Depression (2} Boom

{3) Recession (4} Business cycle

TSI A1 oM B URd @M At fafann & g Seae=ml 1 %89 &
(1) el (2) oS

(3) TTHA (4) ST sk

Creation of new money by the government to fill the gap between
government revenue and expenditure is known as :

(1} credit creation (2) deficit budgeting

(3) dificit firiancing (4) primary deficit

umﬁsémqﬁ S % FA I U FA F AU THR g1 T ger YA
HeAdl T ¢

(1) =g geH (2) HR H IS
(3) = 1 fag 9o (4) WfHF w2

Which of the following will increase directly the Gross National
Product ?

(1) A rise in the market price (2} An increase in investment

(3) A surplus in budget (4) A deficit in budget
freafafad ¥ § F1 @ T F TR WA A § 9 W 2
(1) =R 79 9 3fs (2) fafram % gfs

(3) TR H il (4) T H Wl

12
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34.
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Depreciation is the loss of value of :

(1) Final goods (2) Intermediate goods
(3) Stocks (4) Capital goods
Te-gre e & gea O & gl €

(1) | Ty (2) werEdl TRy

(3) wWE (4) {ima TR
Expenditure on defence is’an item of :

(1) Public investment (2) Public consumption
(3) Private investment  {4) Private consumption
(1) wEat fafam & (2) GrESIE SYERT
(3) Tl fafam (4) T 399 =

In India the main source of national income'is :

(1) Primary sector (2} Secondary sector
{3) Tertiary sector (4} Foreign sector

W T Y e W agE w6 @

(1) wafiss &= (2) Tades o

(3) TdE® & (4) facsi &=

Harrod model does not talk about :

(1) critical minimum growth rate(2) actual growth rate

(3) warranted growth rate (4) natural growth rate
g o wiew Fr & fowg o 4 o ©

(1) shifaes A fasma R (2) arEaE faem
(3) g fasme (4) Wihiaeh fadw@

13 P.T.O.
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35.

36.

37.

38.

The best indicator of economic development is :

(1) rising savings (2) rising investment

(3) rising levels of living (4) rising capital-output ratio
e faaTe & Hem go € -

(1) o = (2 =g faf

(3) a1 33T SEH TR (4) =g gei-fria ega

The utilisation of disguised unemployment as a source of savings
potential in underdeveloped countries was suggested by :

(1) Harrod (2) Nurkse {2} Rostow (4} Singer
el 39 ¥ S9q UAEAT & B % &9 A Te5d KIS F 39E
g <t o

(1) e (2) T A (3) == (4) &R
Capital goods which contribute to production in a durable manner

over a period of time longer than the usual accounting period of one
year, may be termed as :

(1) Durable goods (2) Working capital

(3} Fixed capital (4) Investment in stocks

e T o ¥ sk o safy ¥ = w9 ¥ S § AeH oF 9
i@ﬁma@aﬁaﬁ%m%

(1) feFrs awe (2) A i

(3) femgst @) =W ke

The policy making use of taxation through the budget and government
expenditure to effect the performance of the economy is called :

(1) Monetary policy {2) Fiscal policy

(3) Government policy (4) Economic policy

14
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40.
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Sdeare & HE-froqes &) gafag F3 & o oo a9 o s &

T Y FOGU] HH Gre A B T
(1) e ifa (2) TS A
(3) TR Aifd (4) el Afa

Value of income measured in terms of the prevailing price level is
taken as :

(1) Money income (2} Real income

{(3) Nominal income (4) Personal income
M FHimd W TR T ST F G F A AR

(1) wifgs (2) aTErEE 3

(3) Wikfash =14 (4) fFEE AF

The various methods of measurement of supply of money is published
in India by :

(1} Central Stastistical Organisation

(2) Reserve Bank of India

(3) Ministry of Finance

(4} Planning Commission

W W gg1 W g o w5 fafie Rl w1 seeE 9 R
(1) %= wifEen §ea 50 (2) wan o 9% 5N
(3) faw HeE 2R (4) A SEM B

Which of the following is the most liquid measure of money supply ?

freaferfiaa & @ 1 yfd 9 waifes @ oy w20 ¢ 2

(1 M, (2) M, (3} M, (4) M,

15 P.T.O.
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42. Foreign currency which has a tendency to quick migration is called :

(1) Gold Currency (2) Scarce currency
{(3) Soft currency (4) Hot currency
TS TemEe X S et fad ge weent € ¢

(1) @oigsn  (2) I (3) GEugm (4 T

43. Indian state having the lowest infant mortality rate is :
(1) Tamil Nadu (2) Karnataka

(3) Kerala (4) Maharashtra

9Rd W e wH Y] U X A1 THA B
(1) dafe g (2) FARHE (3) HLA (4) HERE

44. Devaluation means :
(1) To issue new currency in place of old currency
(2) To change the relative terms of foreign exchange
(3) To increase the value of home currency in other currency
(4) To reduce the value of home currency in other currency
ST 1 37 ©
(1) T 51 & Fga § T gz S w3
(2) faeh fafwg =t waf # anifees ofted &
(3) 3T HSl I JAH W TR I FHET FG
(4) o HgT H gl § Wl eI H Hed WMl

16
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45. Demand-Pull inflation takes place :

46.

47.

(1) When demand for monetary fund increases
(2} when money income increases
(3} when production cost increases

{4) when production increases

M-I THifa S Bl R
(1) & 51 I H 4 ded @
(2) = i o W gfg et €
(3) TR IELA TG Fedl 2
@) v SarRA ¥ gig 2 2

Increase in net RBI credit for central Government represents :

(1) Fiscal deficit (2) Revenue deficit

(3) Monetised deficit (4} Budgetary deficit

¥ WHR F o ardt o 3% 9 ¥E wa § gfe e[ w1 @
(1) TSN wel (2) TS el

(3) mifFa el (4) SR T

Which of the following improves adverse balance of payments ?
(1) Import substitution (2} Demonetisation

(3) Over-valuation (4) Devaluation

frfefiga & & # fauia e a<ges =i fofa ¥ gur am g 2
(1) smEmE Sfier= (2) Terggieo

(3) AfERIEE (4) T

17 P.T.O.
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48,

49,

50.

51.

Which of the following is correct about induced investment ?

(1} Income inelastic

(2} Adverse relation with income

(3) Income clastic

(4) Affected by long run expectations

N fafren & wrawy A frefafega § @ s @@ @ 2

(1) @ Frde (2) g & faoda Ty

(3) oM WY (4) el gerEett @ wefi

In case of Marginal propensity to save being 0.2, multiplier will be :
g g9a vy 0.2 81 #1 feafa o, 1ok g e

(1) 2.0 (2} 3.0 (3) 4.0 (4} S.0

The classical theory of interest denotes :

(1} Abstinence theory (2) Time preference theory

{3) Saving investment theory (4) Loanable fund theory

=1 & Sfdfia fagr e = @
(1) @ 1 fggr (2)  THy feAE fag
(3) srad-fafam fasr @) Ry iy e

Who has suggested that economic development of developing countries
can be accelerated by waekening “back wash effect’ and strengthening
spread effects ?

(1) Kaldor (2) Myrdol

(3) Hicks (4} Harrod-Domar

18
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frfafad & 9 fam gama fean ? & faemesia 2o & ot fowm &1 ‘aifa
frid 399’ Il FUGR FAF T TR GG F AL B AR fhar s
eI

(1) ®EER (2) "2 (3) fe=w (4) -3

Which one of the following is mot an assumption of Neoclassical's
Growth Theory ?

(1) Full employment in the economy

(2) Perfect competition in commodity and factor markets

{3) a cépital output ratio

(4) Factor payment equal to marginal revenue productivity.
Frefafigs §f @ S 7a-Sfafa o e 1w 7 € 2

(1) SAedeeeen # gui I

(2) o W WEd S H gl sfifi

(3) si-frafd ergam

(4) HHEFT ITH ITE F TR YA IAE

The concepts of "forward linkage effect" and "backward linkage effect”
were used in the development theory of :

(1) Nurkse (2) Hirschman

(3) Leibenstein (4) Nelson

‘ST WA g e WA anens w fawe e 8 b
EXURICINF

(1) T * (2) TUAT H

(3) fae= & (4) T H

19 P.T.O.
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54, Which of the following “indivisibilities' and “external economies' was
not discussed in the "Big Push Theory' of economic development?

(1) Indivisibilities in the production function

(2) Indivisibilities of demand |

(3) Indivisibilities in the supply of savings

(4) Indivisibilities in the investment function

fretfafa # ¥ S ‘sifsrsaan’ qon ‘e fageafaay’ s faee & wee
sy o o feafed == @

(1) SRA BT ¥ SAfgarssm (2) FI H eI
(3) ol W o ¥ ofawsmm 4)  fafE wem & EIERIERD]

55. The Phrase "Demonstration effect" was coined by :

(1) J.M. Keynes (2) Joan Robinson
{3) James Dussenberry (4) J.K. Galbraith
Sy s’ g 1 Frafor R en

(1 . . &9 (2) < Wfere 3
() S g @) 3%, Femg 3

56. The Harrod-Domar model of economic development presupposes in
the economy :

(1) unemployment (2) full employment

(3) low level of consumption | (4) Thigh level of consumption
T forebra o1 - Aiser siofegacn §f T80l 4 TH A R

(1) = (2) qUi USATd

(3) YA & T ww (4) STHT FH 3T WX

20



57.

58.

59.

10P/239/31

"Golden age' corresponds to a situation where :

(1) Natural rate of growth exceeds warranted rate of growth
(2) Warranted rate of growth exceeds natural rate 61‘ growth
(3) Actual rate of growth exceeds warranted rate of growth

(4} Natural warranted and the actual rate of growth of national
income are all equal

“raet g’ 3@ fafa & wgw @ € @

(1) oo =) wefss R fawm # ady @ 9 1fus 2 2
(2) P =t anfE R A F TEhE R ¥ ofus 3 2
(3) Taepra =it arafas <X faam it @iy ¢ § a1fas <t 2

(4) T o F faerd w1 wepfen, SsiE 9o el <X g g Ed 2

Perspective planning refers to :

(1) short-term planning (2} long-term planning
(3) annual planning (4) five-yearly planning
Ty fraem s #ar 2

(1) STeushiei FsH (2) Sisferrei fisH

@) @i frasm (4) dHeiTa frsH

The concept of "Shadow Prices' was first defined by :

(1) G. Myrdal (2) H. Leibenstein

(2} J. Tinberger (4) Rosenstein - Rodan
B T I AAGRT B Fewe™ Rl fna

(1) . s A (2) . fae=E A

(3) . feraik 7 (4) TerEHE-TEF 7

21 P.T.O.
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60. Indicative planning refers to :

61.

62.

63.

(1) Planning of specific projects

(2) The provision of five year plans

(3} Compilete government control over the economy

(4) The provision of economic projections and voluntary guidelines.
fremenss fyaem i &1 Wide €

(1) fafes ofEsT = fase

(2) UeEET AT # WaHH

(3) STIHATAT HY THR 1 qOI (=01

(4) A% wemul qor Wi fow ey 1 gaum

Which economist of the following stressed the role of entrepreneur in
economic development ?

(1} Nurkse (2} Kaldor (3) Schumpeter (4) Hirschman
frfefes & & feg sifarel 3 onféer fawma § wed &1 Jfe = oR g 2
(1) i (2) HEER 3) yrfieR (4) s

The vicious circle of poverty points out the relationship between :

(1) Productivity and income (2) Income and population

(3} Investment and technology (4} Savings and capital

e w1 geaw frefafaa & 9w e fogem @

(1) SEHA T 2 (2) 3G W& SEE

(3) fatrEm o denfent 4) == @ geh

Which of the following is a necessary condition for the high rate of
modern economic growth ?

(1} Development of urban centres
(2) Continuous technological progress

(3) Expansion of money supply in the economy

(4} High rate of population growth

22
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Y ST fashTg 31 3=d T % for Frefofad ¥ & FH s11ewrs 6 § 2

(1) TR F= w faww (2) 3Faa Srafie G
(3) ofefereren ¥ ger-gfi 1 fowmR (4) SEEd 9ig @ $¥ R

64. Theory of social marginal productivity was proposed by :

65.

(1) J. Robinson (2) R.M. Solow:
(3) A.M. Kahn (4) Leibenstein
g S Seeehal o faST ol e fhar
(1) <. Ufeorga (2) IR, WH, 9l
(3) TU. TH. HEA (4) A=

Cannon of equity in taxation is generally considered to be satisfied
by :

(1} Progressive taxation (2} Regressive taxation
- (3) Proportional taxation (4) Lump sum tax

FIRITT & T & aGrFG 1 GErgE: T8 7 9 @

(1) SPTisiier TR 5RI (2) . S HRW g

(3) WG FUUIU BRI (4) THYT H

66. The principle of Maximum Social Advantages is concerned with :

(1) Taxation oniy

(2) Expenditure only _

(3) Both taxation and expenditure

(4] Public debt only

SATeRan WIS o1y 1 e gfad @
(1) Had FIRT0 |

(2) A GEEE T Y

(3) FHRNIOT T WSk = S |

(4) o ddeE B Y
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67.

68.

69.

Tobin tax is a tax on :
(1) Sales
{2) Exports

(3) Imports

(4) transactions in foreign exchange

A H TF F ®

(1) foshl W (2) el =

(3) MA@ W (4) fash g1 ¥ o9-3 W

Budgetary deficit does not take into account :
(1} Capital budget deficit

(2) Dbalance of payment deficit

(3) revenue deficit

(4} interest payment on pﬁblic debt

S e e W A A R
(1) TSTE S S

(2) T HIEH we

(3) ST R

(4) WA RO W S PFIdH

Fiscal and monetary policies are intended to combat :

(1) cyclical unemployment (2) Structural unemployment
(3) Frictional unemployment (4) Both (2) and (3)

TerRTE T g fifaat frafafad & @mem o sy @l §

(1) T AT (2) HEEAEHF SRS

(3)  EuITRTR SIS (4) (2) 3l (3) I
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In India, the states get maximum revenue from :

(1) Land Revenue (2) State Excise duty

(3) Sales tax (4) Agricultural Income Tax
IR B T Y rfersman e W B €

(1) 9-Tora 9 (2) TY IR Y |

(3) fsRl# @ (4) PU AT

In India who appoints the Finance Commission ?

(1) Prnime Minister of India (2) President of India

(3) Speaker of Lok Sabha (4) Chief Justice of Supreme Court
aE ¥ fore e = Frgfe o wa § 2

(1) 9RE & waFEsH (2) W & Ugafd

(3) THEM F Y 4) Thm L & T <
The central tax which is not shared by the states is :

(1) Sales tax (2} Income tax

(3) Corporation tax (4) Central excise duty

e F=ia = 8§ o @ e & faemr @, 9w @

(1) fesm = (2) T

(3) fm = (4) N IS YEH

Which one of the following assumptions is the most important
assumption in the Heckscher-Ohlin theory of international trade ?

(1) Two commodities (2) Two factor model
(3) No tarrif (4) Constant tastes

W@Eﬁ%w@wmaﬁﬁmﬁfﬁaﬁmﬁﬂﬁaﬁh
e HEequl ¢ ;

|l il
(1) gy (2) E-WET HiEgd

(3) E TYH T (4) R R
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74.

75.

76.

77.

78.

The Chairman of the Ich Finance Commission is :

(1) A.M. Khusro (2) K.C.Pant

(3) C.Rangarajan (4) Manmohan Singh
gRES {99 smam & orwus € . |

(1) T U, g (2} . W U9

(3) . GReA (4) "R fag

When co-efficient of variation and standard deviation of a series are
respectively 60% and 12, then what is the value of the mean ?

S Soft w1 e o R s feme HEE: 60% 3R 12 # 6 W @
T N Em 7

(1) 20 (2) 21 (3) 23 (4) 25

The features of sample estimated from sample observation are called :

(1) Variance (2) Co-variance
(3) Characteristic (4) Mean

faed Sfoe gr s whed o fadiaeit = w2
(1) ST (2) HE-TU

(3) e (4) ™=

A group consists of 8 students. How many teames of 3 students each
can be framed ?

T TR A 8 B 1 3 B i fea AW 5w € 2

(1) 30 (2) 40 (3) 46 (4) 56
Which of the following can be calculated graphicélly ?

(1) Mean and Median (2) Mean and Mode

(3) Median and Mode (4) Mean and Geometric Mean
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80.
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82.
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fir o § fFT A9 WS R S o O § 7

(1) Treg To wHifee (2) W T agAS

(3) WIfETH TE SEeh (4) e wd senfafas Aied
The index numbers of base year is always :

SR Y 1 Gehish gHe Bl §

(1) S0 (2) 100 (3) >100 (4) < 100

The sign of both the regression co-efficients are :

(1} Positive (2) Negative (3) Same (4) Opposite
R ST o # fag wed g @
(1) &R~ (2) RUMHS (3) ¥HM (4) fagda

If all values of a variable are multiplied by a constant, there will be no
effect on which of the following : .

(1) Mean (2) Median
(3) Range (4) Co-efficient of Range

Ife frel = & wsht 7 Tt iy e gr on fean s @ fF=fataa §
G ffe W K g9@ T 72 ¢

(1) A& (2) wfEasE

3) fawRr (4) foreavo =1 o

The price index number which uses base year result as weight is
called :

(1) Laspeyre's index number

(2) Paasche's index number

(3) Fisher's index number

{4) wholesale price index number

27 | P.T.O.
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83.

84.

85.

?W%Wﬁmﬁm%ﬁmﬁwmaﬁwﬁmﬂmﬁm

(1) <" gass (2) U YAH®

(3) R 1 el (4) T T YEHE
Which of the following statistical measures is based on all observations :
(1) Range (2) Mode

{3) Harmonic Mean (4) Quartile deviation
frefafas wifea mdl § FH-91 16 gl Jaoi ) oafa @
(1) fowm (2) FEEH |
(3} BUHE W=y (4) =gdw fa=em

The standard deviation of six numbers 3, 3, 3, 5, 5, 5 1s : |
(1) 1

(2) 4

3) O

(4) can not be obtained since the unit of measurement is not given
et - 33, 3,5, 5,5 % Y f=eE ©

1

(2) 4
(3) O
(4) T S form S T RfE WO B TR A9 4 E ©)

The co-efficient of correlation :

(1) ‘has 1o limits {2) can be less than one
(3) can be more than one (4) varies between +1
TRy 1T -

1) ReEdmae (2) TF A FHQ GHaI 2
(3) TS W fuw & wehar B @ +1 % €\ @
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87.

88.

89.

90.
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If both the regression coefficients are negative, the correlation
coeffcient would be :

(1) Positive (2) Negative (3} Zero (4) Infinite
afe SR WgE Ui RV € O Ve-Te O S
(1) ¥ icHS (2) FRUIHE (3} I3 (4) 3=

Dispersions are not calculated about :

(1) Arithmetic Mean (2) Mode

(3) Median | (4) Geometric Mean
STAfeRTor oY o W el St @

(1) TI=R A1=g ° _' (2) gaH 9

(3) femeRt | (4) TOTRR e 9
When co efficient of skewness is zero, the distribution is :
() J. Shaped (2) U-Shapes

(3) Symmetrical (4) L-shaped

S fosmer e = g @ faee g 2

(1) J- TSI &l (2) U- SRR

(3) wofba (4} L- 3ER H

If a card is drawn from a pack of cards, the chance of getting a king or
a queen is :

g&zmw%rmﬁnsgifm$uﬁr@ﬁﬂsmﬂ%?ﬁauﬁamﬂmgtndhﬁéﬁ¥$1@ﬁm

(1) 1/3 (2) 1/4 (3) 2/3 (4) 2/13
Large variable sampling theory is applicable when :

a¢ = # Afee 79 o S § 9

(1} N =30 (2) N=>30 (3) N<30 (4) N 30

29 P.T.O.



10P/239/31

91.

92.

93.

94.

95.

Which of the following averages is estimated with cummulative
frequency curve ? '

(1} Geometric mean (2) Harmonic Mean

(3) Median (4) Mode

frefafes sliadt & @ foe & 1 sifirsom Tt e % 9 S @
(1) afd e | (2) TEE e |

(3) WIfEAeR | (4) &S

The geometric mean of two numbers, 8 and 18 will be :

& Y, 8 3R 18 1 YU HE BN
(1) 11.09 (2) 12 (3) 13 4) 15

The best and ideal measure of Central tendency is :

(1) Arithmatic mean (2) Geometric Mean
(3) Mode (4} Moving Average
S YafT &1 wead Ud ee WM g

(1) =R A (2) TONR HIEA

(3) Sgerh (4) HAI-HIY

The arithmetic mean of the first 10 odd numbers is :
TI9 10 HEAAT T WHidT T ©
(1) 5.5 (2) 9 (3) 10 4 11

Which type of statistical averages are mode and median :

(1) Positional Average (2) Mathematical Average

(3) Business Average (4} Moving Average
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g o Hifeaen Ry WhR % wifewwia wed ¥

(1) Rafa grah me ) uferda men

(3) S e (4) =@ "

Which of the following index numbers satisfies both time reversal
and factor reversal tests :

(1) Laspeyre's index (2} Fisher's index

(3) Paasche's index (4) Kelly's index

frefafen gae § § FF-W UF FAGHT 991 e SehAul <Ml
el GgE FAT® 2

(1) TR e (@ fPw g
() T YEHF (4) Fel TIHE
The formula for finding coefficient of variation is : |
ForeroT T[T F1d A G €

(1) 61’332 2) %x 100 (3) -i-xwo (4) %xIOOO
Lorenz Curve is a measure of :

(1) Dispersion (2) Skewness
(3) Central tendency (4) Kurtosis
SRS o3k A9 ¥

(1) 3MUfRTOT (2) faumar =

(3) F=id s (4) FEHeal H
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99. If an event is bound to happen, the value of probability will be :
afs T TR SEwE § @ faswa w1 A e
(1) O (2} -1 (3} +1 4y 1/2

100. Which of the following is the most uncertain average :

(1) Mode (2) Median
(3) Geometric Mean (4) Harmonic Mean
frefafea ¥ @ =4 @ =@ AfR=a e 7

(1) g% (2) e

(3) TUIRR AEA (4) IO WA

101. As per the 201 Census, the annual growth rate of population in India
is :

2001 F S & ATER, IRA H FE H 9F Iy T 2

(1) 2.0% (2) 1.95% (3) 2.2% (4) 2.3%

102, Variance is equal to :

oo e S e 9 E

1 Vo @ < @ o @) 30

103.What percentage of working population of India is engaged in
agriculture ?

YA F) Hre e 1 el e v F ¥ G § 2
(1) 33% (2) 39% (3) 46% (4) 50%
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104. Rangarajan Committee was associated with which of the following :

(1) Tax Reform {2) Balance of Payment deficit
{3) Devaluation (4) Agriculture Price Policy
RIS Wiy w5 wrery freffas & @ &9 wew @ o

(1) F-FuR | (2) T WG e

(3) AT (4) FH Hea =i

105, Which of the following committees is related to review of minimum
level of poverty line ?

(1} Chaturvedi Committee (2) Mistri Comumnittee
(3) Tendulkar Committee (4) Parikh Committee
frafefen & @ i wfuf e Yo #it =T Rufy #t arften @ v @ 2
(1) G st (2) foreh wfufa
(3) dgoreRt HfHfa (4) TR@ ff
106. Which of the following committees was associated with indirect tax ?
{1) Wanchoo Committee- (2) Rekhee Commitiee
{3) Chelliah Committee (4) Sarkaria Committee
Frefafes afufe ¥ 9 39 s X3 gefug o 2
(1) aig afafa (2) et wifa
(3) <o wfufy (4) TeIfc G

107. WTO is the new name of which of the foliowing ?
fervarsamar gna Frefafan & @ fram T € 2
(1) UNICEF (2) UNESCO
(3) GATT (4) UNCTAD
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108. As per 2001 census, number of female per thousand male in India

was :
2001 W SHIVAT F FER 9RE B wfd TR g R ofgast it g 6
(1) 927 (2) 933 (3) 939 4} 959

109. The period of the 11th Five Year Plan of India is :

ARE & TREE Ga€r A Hi sy ©
(1) 2005-2010 (2) 2006-2011
(3) 2007-2012 (4) 2008-2013

110. Which of the following industrial sectors was made licence free in the
Industrial Policy of 1991 of the Government of India ?

(1} Cement Industry (2) Textile Industry
(3) Leather Industry (4) Chemical Industry
T YR H 1991 1 iife Hifa ¥ fora sglivm &y = el T
fea rem @ ?
(1) Hmoe s (2) gl s
(3} =mg M (4) TEEd I
111, Green Revolution had been started in India in the year :
Jd H g shif w6 T ot
(1) 1965-66 H (2) 1966-67 H
(3) 1967-68 H (4) 1968-69 T

112. New National Agricultural Policy had been announced by the
Government of India on :

(1) July 24, 2000 (2) July 28, 2000
(3) April 3, 2000 (4) April 28, 2000
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qRE 9CRR g T4 afig S Hifa = Swm 9 T8 ot
(1) 24 S&E, 2000 H (2) 28 B 2000 A

(3} 3 78 2000 H (4) 28 3T 2000 W

113.

114.

Temporary control on inflation can be through :
(1) Increasing prices

(2) Increasing the amount of taxes

(3) Checking the increase in money supply
(4) Reducing prices

HET TR 1 AT o fRa S wehe ¢

(1) FHd TR

(2) HU Fl A TG

(3) W& Y Al ghg hl Uehaht

(4) HHG TTHL

Most important objective of monetary policy in India is :
(1) Price stability

(2) stability in prices of agricultural commodities

(3] Increase in price level

(4) Decline in prices

s # i A 1 wTE IR €

(1) T

(2) SN aEgen & g W wfaa

(3) T W H s

(4) AT H 7™
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115, The wholesale price index is prepared in India by :
(1} Central Ministry of Commerce
(2} Central Statistical Organisation
(3} Central Planning Commisstorn
(4) Central Agriculture Commission
TR N N Yed GIHF AR fE i €
(1) &=y aiforsg W 51 (2) FE HiEH €I gR]
(3) T A S E g (4) FEE P AT F

116. The addition of interest paid by the Government into primary deficit
will result into : -

(1) Revenue deficit (2) Monetised deficit

(3) Budget deficit (4) Fiscal deficit

FERR FRT PR {1 = &t A Mt o # e S I Fe R
(1) T/ =0 L (2) WifEEa mE

(3) NI Wy (4) ST 91

117. Sarkaria Committee was associated with :
(1) Indirect tax (2) Tax administration

{(3) Centre-State relationship  (4) Banking reform

wERgr Tfufd grafag o ;

(1) onrHel X | (2) T ANRE 9
(3) FE-U T B (4) ofFT guR @
118. Value Added Tax (VAT) was recommended by :
(1) L.K. Jha Committee (2) Bhootlingam Committee
(3) Rekhee Committee (4} Chelliah Committee
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T afGd w1 e &1 o ¢
(1) Udo o w3 afufd 3 (2) spafer wfafa A
(3) Y=t gfufa 3 (4) ot wiafa 3

Which of the following is not the source of tax revenue of states in
India ?

(1) Trade Tax . (2) Transport Tax

{3) Property Tax (4) Agricultural Income Tax
9Ra H Frefaiag § @ S TsH % 1 TS & Hid W@ e ?
(1) MR T (2) ded X

(3) THf (4) Y A A
Which of the following is not an indirect tax ?

(1) Customs duty (2) Corporation tax
(3) Service tax {4) Excise duty
frreforfaa # @+ sy X T 7

(1) d gosh ) fm =

(3) Fr (4) I YT

The budget prepared by evaluating every item of expenditure in every
financial year is called : '

(1) Performance Budgeting (2) Deficit Budgeting
(3) Zero Based Budgeting (4) Fresh Budgeting
gﬁiﬂ? foita a8 o =8 & TA® WS T T4 A FHlsh TSR S Heal

(1) Tromes s=ifen (2) g a=fen
(3) I MuIRA sifen (4) A IS
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122.The implementation period of the recommendations of the 12th
Finance Commission is :

128 fore s Y srqeianedt Ft fparag erafy § -
(1) 2006-11 (2 2005-10 (3) 2007-12 (4} 2004 -09

123.In the world textile trade, share of India is :
favd e MR H 9RA i fe@ed ©
(1) 1% (2) 2% (3) 4% 4) 6%

124. The target of industrial growth rate fixed in the 11th plan of India is :
R &1 TReEd dre  sfenfirn foer @t fifa siga w2
(1) 9.5% (2) 10.5% (3) 11.5% (4) 8.5%

125. The nature of unemployment is prominently :
(1) Seasonal (2) Frictional (3) Structural (4) Cyclical
i W SN = vty ?
(1) T 2) =T (3) HEETHE  (4) WA

126. The percentage contribution of agricultural sector in total empolyment

of India is :
URd % Fol AR N F &3 1 e F I 2
(1) 56.7% (2) 60.5% (3) 63.3% (4) 75.0%

127.The producer will employ workers till the marginal revenue product
is

(1) more than marginal wages (2) less than marginal wages

(3) .equal to marginal wages (4} zero
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P IAEF AR A 79 7% JTIR § TG S qoh =< T IHTE S
(1) wr< wegd | sifaes (2) Era wergh ¥ w5
(3) HHT Helgl % SRR @) T

128. In which of the following situations, inquality in distribution of wealth

and income is the maximum ?

(1) Inflation (2) Deflation
(3) Reflation (4) Stagflation
Frafafes feafed § @ fhad o wd oma & faawor o waifis favw g 2 ?
(1) IR-TRd () FE-EFE
(3) HEHfd (4) Fregg-eRifa
129. Which of the following is not essential as a feature of trade cycle ?
(1) Repetitive Pattern (2) Periodity
(3) Regularity (4) Cumulative
frafefea # & =R =% = fRiv & F9 7 S s 6 R 2
(1) TRE F =Y (2) EmfaEwd
(3) fraftaa (4) e

130. National Development Council was constituted in India in the year :
aRg H = o A uEig faer aReg & TaA R T a

(1) 1950 (2) 1951 (3) 1948 (4) 1952
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131.

132.

133.

Change in demand refers to :
(1) Increase in quantity demanded on the same demand curve
(2} Changing relation of demand and supply

(3} Decrease in quan.tity demanded on the same demand curve
(4) Shiit in the demand curve

TR ¥ wftedw fiEe wa g

(1) S A 9 I AT H AN g

(2) W AR I F A gEY

(3) ST UPT OFF T O F A #

(4) T Ik ST TATLOT

The theory of profit popounded by Schumpter is known as :

(1) Dynamic theory of profit

(2) Innvoation theory of profit
(3} Risk theory of profit

(4} Uncertainty bearing theory of profit

yefte g0 wawfed o fagra = %81 S @

(1) o9 % e fagr (2) o9 & TE-adT fagra

(3) M H Ny fgg (4) w9 & fHfaaar @eq fagra
In liquidity trap, demand for money for speculative motive is :

(1) More elastic (2) Less elastic

(3) Perfectly elastic (4} Inelastic

10
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T e ¥ e IL8va W o Hew i ui gl §
(1) % F=ER 2) T AR
(3) Tl w=ER (4) SRR
134. According to the Heckscher-Ohlin theory of international trade, the

most important case of difference in relative commodity prices and

trade between the nations is difference in :

{1} Technology (2) Fctor Endowment

(3} Demand conditions {4) Tastes

LR - il & STRITE =R fagrd % T8N <9 & o9 o & |
el G971 AR F TR & G WEEAYUl BRI ¢

(1) Sreafrt (2) SUEE WA

(3) Wi F fefeat (4) Hfrelaal

135. The infant indlistry argument is often advocated in the context of :
{1) Price discrimination
(2} Product diversification
(3} Protection

(4) Resource mobilisation

Ry S 1 o R fm & wed & g fean e
(1) T e (2) Searg fafaear

(3) TR&W (4) T GEeA
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136, Which one of the following items is not included in the current account
of India's balance of payments ?

(1) Short-term commercial borrowings

(2) Non-monetary gold movements

(3} Investment income |

(4) Transfer payments

Pretfefad Tl H @ WM T YRA % TIEF GE F Wi @R § it T8
foman stren ® 2

(1) Y-HEH NITITF R0

Q) R-Hifkw @i gaem

(3) fafm ama

(4) HALO YT

137.The “structural change' in exports means :
(1) Increasing exports alongwith imports
{2} Change in the commodities of imports
(3} Change in the commodities of exports
{4} Increasing imports _
frata & “wremens aftadr w5 o §
(1) T & g fafdl & sg 0 (2) Sl o aegedt B ulRadd
(3) fafdl =t awgell A WRadw  (4) ST W SRl

138. Who developed the production function : Y = M ~ AR*
(1} Arrow ' {2} Spillman

{3} Cobb-Douglas (4) Solow
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I BT Y = M-AR* F e fowfaa fean
(1) @ (2) foxera

(3) FlA-TE (4) e

139. The quantity of capital used for the production of one unit is said :

(1} Capital-output ratio {(2) Capital-Input ratio

(3) Capital-Investment ratio {4) Input-Output ratio

T T ST ¥ fm 35t @ S A wam # oné s 2, 3 e #
(1) Th-3eR S @ dsi-amm s

(3) qoi-fafrin sy (4) STTE-SEUR I

140.In the condition of the effect of technical substitution, the real

expenditure of the producer :

(1} Increases (2) Decreases

(3) Remains constant (4) .Ultimately becomes zero
qehteR ATy gid &l g H IqIEeh 6T areafaE =

(1) =g 2 (2) wed?

(3) ReR @@ ? (4) oFEd: Y B e |

141. Involuntary unemployment is the indication of which of the following :
(1) Inflation {2) Deflation

(3} Reflation {4} Disinflation
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sARwE aNed SiH- fRafa # wEE ©

(1)
(3)

RS
Temifd

(2)
(4)

IEfESfg
AQERITT

142.The most important factors causing reasonal variations are :

(1)
(3)

growth of populaton

weather and social customs

(2)
(4)

technolggical improvements

change in fashions

T e ® wafga FRE o ged WUl e R

(1)
(3)

SEET Jfg

g e wefee e

(2)

(4)

TEH YUr
e o gftada

143. Who propounded the "Circular Causation Model' of economic growth?

(1)
(3)

Myrdal
Tobin

(2)
(4)

Harzod-Domar

Uzawa

e faame & <Tshid HrEHI0] Hiser & Sfaued fwas foe 7

144. Core sector in planning devotes :

friem o R Qw1 ard ©

(1) fada

(3) Qe A

(1} Agriculture
(3} Iron & Steel
(1) TN

(3) g w T¥rd
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145. Which of the following is not inctuded in “flow of income'?

{1) Investment | (2) Consumption expenditure
(3) Payment of interest (4) Public expenditure
‘sa-vere H Fon wftnferd T & €
(1) fafam (@) Sud =@
(3) AN T YA (4) wEATE g
146.If Marginal propensity to consume is 0.5, multiplier will be :
& Hrg 39T W9 0.5 & 1o B
(1) 1.5 (2) 2.0 (3) 1.0 (4) 3.0
147.The concept of five stages of demographic transition of country was
given by :
(1} Malthus {2} Nelson
(3) Blacker {4) Fei-Ranis
fordl 2w & SAifra YA o gl sTewed w5 anon W R
(1) 9reag (2) Fegd A
(3) AR A 4) wE-fm3

148. In welfare economics, the concept of "Bliss point' is associated with :
(1) Pareto's social optimum
(2) Compensation principle

(3} Social welfare function

(4) Arrow's General possibility theorem
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HeqroT AR F “gafen Fe fa=g’ (Bliss point) H RO Tafd €
(1) WA F gafesk FpeaE & (2) &g fagra |
(3) TSI HeAv] B Y (4} TN F W GEH YWY 9

149. The first order condition for profit maximisation is :

Y TFaHiEH % T ygq Fif # ud ®
() MC>MR (2) MC=MR (3) MC<MR (4) TC=1TR

150. At the point of inflexion, the marginal utility is :
(1) 'Increasing (2) Decreasing (3} Maximum (4) Negative

g & farg A swfE 2 R
(1) W@ EE (2) YA R (3) AfwaH (4) RUTHF
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